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2.2 Exponent Review and Rational Exponents 2019-20 

(1.1.1, 1.1.2) 
 
Simplify each expression. Your answers should contain only positive exponents. 
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22. In your own words, explain what a negative exponent means 
 
 
 
 
 
 
 
23. In your own words, explain why 0 1.x =  
 
 
 
 
 
 
Write an equivalent expression using radical notation. 
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27.  5 6t     28.  3 416     29.  4 327  
 
 
 
Write an equivalent expression using rational exponents. 
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Write an equivalent expression using positive exponents and, if possible, simplify. 
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Use the laws of exponents to simplify.  Final answer should be in rational exponent form using 
only positive exponents. 
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Use rational exponents to simplify. Write your final answer in radical form. 
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Review 
Find the prime factorization (use a factor tree) for each of the following. 
 
57.  120    58.  72 
 
 
 
 
 
 
 
 
 
59.  List the transformations to ( ) 1 5h x x= − + −   in the correct order. 
 
 
 
 
 
 
60.  If f (x) = −2x2 −3x + 5 , find f (−3) . 
 


